

BID BULLETIN 01

Date: 11 September 2023

Project Title: Supply and Delivery of Hardware and Construction Supplies

(VSU-GOODS-23-38)

Location: VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

I. LIST OF REQUIREMENTS

(1st Envelope) TECHNIC	CAL COMPONENT ENVELOPE
Legal Documents	
1	PhilGEPS Certificate of Registration (Platinum)
Technical Documents	
2	Statement of All On-Going Government & Private Contracts
3	Statement of Bidder's Single Largest Completed Contract (at least 50% of the ABC or Php 924,542.75)
	Or
	Statement of at least two (2) similar completed contracts w/ total amount of at least Php 924,542.75 and the largest of which should be at least PhP 462,271.38 .
4	Bid Security
5	Technical Specifications
6	SCHEDULE of Requirements/Production and delivery schedule
7	Manpower Requirements
8	After Sales service/parts from acceptance of delivered goods (at least 1 year for equipment and 3 months for supplies)
9	Original Duly Signed Omnibus Sworn Statement
Financial Documents	
10	The Supplier's Audited Financial Statements
11	Net Financial Contracting Capacity (at least Php 3,698,171.00)
	Or
	Committed Line of Credit (at least Php 369,817.10)
(2 nd Envelope) FINANCI	AL COMPONENT ENVELOPE
12	Original of duly signed and accomplished Financial Bid Form
13	Original of duly signed and accomplished Price Schedule(s)



Please take note:

- 1. In the **Technical Specifications**, bidders must state either "Comply" or "Not Comply" <u>against each of the individual parameters of the specifications</u> per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the **Bidders Bid** and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature (**Data Sheets**), unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of **ITB** Clause 3.1(a)(ii) and/or **GCC** Clause 2.1 (a)(ii).
- 2. Bidders are advised to use the latest GPPB forms for the following documents:
 - a) Omnibus Sworn Statement
 - b) Performance Securing Declaration (if applicable)
 - c) Price Schedule for Goods Offered
 - d) Bid Form
 - e) Bid Securing Declaration

These forms can be accessed from the GPPB website: https://www.gppb.gov.ph/downloadables.php. Documents that are not in its updated/latest format shall be a ground for disgualification of the bidder.

- II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)
 - 1. Scan per document into Portable Document Format (PDF) and should be printable.
 - 2. Properly label all documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration (Platinum)	PhilGEPS
2.	Statement of On-Going Government & Private Contracts	Statement of On-Going Contracts
3.	Statement of Bidder's Single Largest Completed Contract	SLCC
4.	Statement of at least two (2) similar	Statement of Completed
	completed contracts	Contracts
5.	Bid Security	Bid Security
6.	Technical Specifications	Technical Specifications
7.	SCHEDULE of Requirements/	Schedule of Requirements
8.	Production and delivery schedule	Schedule of Requirements
9.	Manpower Requirements	Manpower Requirements
10.	After Sales service/parts	After Sales
11.	Omnibus Sworn Statement	Omnibus Sworn Statement
12.	Audited Financial Statements	Audited Financial Statements
13.	Net Financial Contracting Capacity	NFCC
14.	Committed Line of Credit	CLC
15.	Bid Form	Bid Form
16.	Price Schedule	Price Schedule



3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.

The second folder should contain all requirements under Financial Component checklist.

- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Mr. Leopoldo S. Escala Jr at leopoldo.escala @vsu.edu.ph on or before the deadline.

III. Changes in the Bidding Documents

Original	
Original	
Section I. Invitation to Bid	(Amendment)
5. A complete set of Bidding Documents may be acquired by interested Bidders on 24 August – 18 September 2023 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.	A complete set of Bidding Documents may be acquired by interested Bidders on 24 August – 18 September 2023 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means: The Bidders may deposit the payment for the bidding documents to the Visayas State University Landbank Account with the following details: Account Name: Visayas State University Fund 164 Account Number: 3572-1000-13 Then send the deposit slip to leopoldo.escala@vsu.edu.ph
Section II. Instructions to Bidders	(Additional Instructions)
15. Sealing and Marking of Bids	Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2.
	For filing purposes, the bidders are urged to use Orange envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.



IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (in red font) and/or deleted (in blue font)
- Some Quantities and Unit Prices (ABC) were changed

Item #	Description	Unit	Qty	Unit Price	Total Price
1	100KVA Single Phase, Oil Emerged out door type Transformer	рс	4	230,000.00	920,000.00
	100 KVA Single Phase, Oil Emerged self-cooled continual rating outdoor Type Transformer				
	7620 volts primary center tap, 120/240 Volts secondary, copper to copper				
	(Primary and Secondary winding) Two(2) Bushing in Primary and Three(3) Bushing in the secondary 3% Impedance, Additive, Amorphous				
2	8 pcs/set flarring tool set for ream copper tube aluminum pipe 3-19mm with tube cutter, air condition	set	1	3,500.00	3,500.00
3	9-kVA generator set	unit	4	80,000.00	320,000.00
	9.5KVA Diesel Silent Type Generator with Battery For Electric Start Max Power at least 9.5KW 100% COPPER DBS PWH11500E				
	Voltage/Frequency: 220V~60Hz				
	Rated Power: at least 9500W				
	Engine Speed: 3600 R/MIN				
	Dimensions: 990x565x770mm				
4	Adjustable Wrench 10"	рс	2	2,000.00	4,000.00
	Wide-capacity Jaws (10")				
	Quality- Chrome Vanadium steel				
	Dependable-Fully supported anti-slip jaw for greater wear resistance and				
	safety for end-users				
	Universal-Laser etched jaw scales in SAE and metric scales				
5	Allen wrench Star 9pc/sets	set	1	400.00	400.00
	Specification:				
	Heavy duty Star Allen Wrench				
	Qty: 9 pcs				
	Torx Or Star Screwdriver				
	Unit: Sets				
6	Cement, (PVC) Solvent, 400cc/can	can	2	250.00	500.00
	Premium Quality				
7	Cement, Portland	bag	110	330.00	36,300.00
	■Type 1P, Premium Quality				
8	■ ASTM C150 Coco Lumber, 2" x 6" x 12'	рс	50	350.00	17,500.00



9	Copper Pipe Tube Expander air conditioner refrigerant Hand Swagging Tools	рс	1	1,300.00	1,300.00
10	Cut-off Machine, 14"Ø (355 mm)	рс	1	15,000.00	15,000.00
	■Voltage: 220V				
	■Rating Input: at least 2,200 Watts				
	■Durable, Heavy Duty				
	■Blade Diameter: 14" (355mm)				
	■Compatible cutting for wood and metal and stone				
	No-Load Speed: at least 3,800 rpm				
11	Electric Drill Bit Set for metal	set	1	2,000.00	2,000.00
	■Titanium bits for High-Speed Steel			,	,
	■Drill size: 1/8, 5/32, 3/16, 1/4, 5/16, 3/8, 7/16, 1/2				
12	Electrical Wire, THHN 250 MCM (125mm2), Stranded Copper for 600Volts	meter	300	500.00	150,000.00
13	Formica sheets, (White), 4' x 8', Plain White	sheet	6	1,200.00	7,200.00
	Good Quality				
14	Good lumber, 2" x 3" x 10'	length	50	600.00	30,000.00
15	Good Lumber, 2"x 6" x 12'	length	50	1,400.00	70,000.00
16	Grass/Brush cutter (Four Stroke Engine)	unit	2	25,000.00	50,000.00
	© Engine: 4 stroke engine				
	■Handle type: both hands				
	■Power transmission method: automatic centrifugal clutch, spiral gear				
	■Displacement Volume (cc): 41.5				
	■Carburetor: Float, piston valve				
	■Starting Method: Recoil starter				
	■Stopping Method: Sparking Circuit Primary Short				
	■Fuel Used: Lubricating oil mixed gasoline (mixing rate 25:1)				
	■Lubricating Oil Used: 2-cycle engine oil				
	■Fuel Tank Capacity (L): 1				
17	Grounding Rod, Galvanized, rust resistant	рс	10	1,000.00	10,000.0
	Hot Dip				
	1 year warranty				
18	Grounding Wire #10 150m/spool	spool	2	7,000.00	14,000.00
	ISO, Philippine Standard(PS)				
19	Heavy Duty Socket Wrench Set (1/4" & 1/2" Drive), 94 pcs	set	1	14,000.00	14,000.00
	■13 Pcs. 1/4" Drive				
	Sockets:4,4.5,5,5.5,6,7,8,9,10,11,12,13,14mm 8 Pcs. 1/4" Drive Deep				
	Sockets: 6,7,8,9,10,11,12,13mm				
	■17 Pcs.1/4" Drive Bits Socket:				
	FD4,5.5,7,PH1,2,PZ1,2,HW3,4,5,6,T8,10,15,20,25,30				
	■1 Pc. 1/4" Drive Bit Adaptor				



	■1 Pc. 1/4" Drive Universal Joint				
	■1 Pc. 1/4" Drive Quick Release Ratchet Handle				
	■1 Pc. 1/4" Drive Spinner Handle:6"				
	■1 Pc. 1/4" Drive Flexible Extension Bar:6"				
	■2Pcs. 1/4" Drive Extension Bars:2",4"				
	■1 Pc. 1/4" Drive Sliding T Bar				
	■18 Pcs. 1/2" Drive				
	Sockets:10,11,12,13,14,15,16,17,18,19,20,21,22,23,2 4,27,30,32mm				
	■4Pcs. 1/2" Drive Deep Sockets:14,15,17,19mm				
	■2Pcs. 1/2" Drive Spark Plug Sockets:16,21mm				
	■1Pc. 1/2" Drive Bit Adaptor				
	■2Pcs. 1/2" Drive Extension Bars:5",10"				
	■1Pc. 1/2" Drive Universal Joint				
	■1Pc. 1/2" Drive Quick Release Ratchet Handle				
	■15Pcs. 8mm*30mm Bits:FD8,10,12 T40,45,50,55 PH3,4 PZ3,4 HW8,10,12,14				
	■1Pc. 1/2" Drive 3-Way Adaptor				
	■3 Pcs. Hex Keys: 1.5,2,2.5mm				
20	Masonry Drill Bit Set	set	1	2,000.00	2,000.00
	■Titanium bits for High-Speed Steel				
	■Drill size: 1/8, 5/32, 3/16, 1/4, 5/16, 3/8, 7/16, 1/2				
21	Multimeter, Analog	unit	1	3,000.00	3,000.00
	Measures Voltage, Resistance and Capacitance				
	Good product and Durable				
	Calibrated (with certificate)				
22	Paint Brush, 2"	рс	13	80.00	1,040.00
	■Durable bristles				
	■Heavy duty metal ferrules				
23	Paint Brush, 3"	рс	10	95.00	950.00
	■Durable bristles				
	■Heavy duty metal ferrules				
24	Paint Brush, 4"	рс	10	100.00	1,000.00
	■Durable bristles				
	■Heavy duty metal ferrules				
25	Paint Brush, Roller with handle, 7"	рс	20	100.00	2,000.00
	Durable, Good Quality				
26	Paint Flat Latex, Good Quality	gal	100	900.00	90,000.00
27	Paint, Flat wall Enamel, White	pail	20	3,500.00	70,000.00
	Premium Quality Paint				
28	Paint, Latex Flat, White	gal	25	800.00	20,000.00
	Premium Quality Paint				



Paint, Latex, Glossy White Premium Quality Paint Paint, Latex, Semi Gloss, White Premium Quality Paint Paint, Quick Dry Enamel, White Paint, Roof, White (laguna) Premium Quality Paint Paint, Semi Gloss Latex, Good Quality Pipe Fittings, (PVC) Ball Valve P, 1-1/2"Ø Heavy Duty, Good Quality Pipe Fittings, (PVC) Gate Valve, 1/2"Ø Heavy Duty, Good Quality	gal gal gal gal gal pc	25 250 80 50 24 3	800.00 950.00 890.00 800.00 850.00 1,035.00	20,000.00 237,500.00 71,200.00 40,000.00
Paint, Latex, Semi Gloss, White Premium Quality Paint Paint, Quick Dry Enamel, White Paint, Roof, White (laguna) Premium Quality Paint Paint, Semi Gloss Latex, Good Quality Pipe Fittings, (PVC) Ball Valve P, 1-1/2"Ø Heavy Duty, Good Quality Pipe Fittings, (PVC) Gate Valve, 1/2"Ø	gal gal gal pc	80 50 24	890.00 800.00 850.00	71,200.00 40,000.00 20,400.00
Premium Quality Paint Paint, Quick Dry Enamel, White Paint, Roof, White (laguna) Premium Quality Paint Paint, Semi Gloss Latex, Good Quality Pipe Fittings, (PVC) Ball Valve P, 1-1/2"Ø Heavy Duty, Good Quality Pipe Fittings, (PVC) Gate Valve, 1/2"Ø	gal gal gal pc	80 50 24	890.00 800.00 850.00	71,200.00 40,000.00 20,400.00
Paint, Quick Dry Enamel, White Paint, Roof, White (laguna) Premium Quality Paint Paint, Semi Gloss Latex, Good Quality Pipe Fittings, (PVC) Ball Valve P, 1-1/2"Ø Heavy Duty, Good Quality Pipe Fittings, (PVC) Gate Valve, 1/2"Ø	gal gal pc	50	800.00 850.00	40,000.00
Paint, Roof, White (laguna) Premium Quality Paint Paint, Semi Gloss Latex, Good Quality Pipe Fittings, (PVC) Ball Valve P, 1-1/2"Ø Heavy Duty, Good Quality Pipe Fittings, (PVC) Gate Valve, 1/2"Ø	gal gal pc	50	800.00 850.00	40,000.00
Premium Quality Paint Paint, Semi Gloss Latex, Good Quality Pipe Fittings, (PVC) Ball Valve P, 1-1/2"Ø Heavy Duty, Good Quality Pipe Fittings, (PVC) Gate Valve, 1/2"Ø	gal pc	24	850.00	20,400.00
Paint, Semi Gloss Latex, Good Quality Pipe Fittings, (PVC) Ball Valve P, 1-1/2"Ø Heavy Duty, Good Quality Pipe Fittings, (PVC) Gate Valve, 1/2"Ø	рс			•
Pipe Fittings, (PVC) Ball Valve P, 1-1/2"Ø Heavy Duty, Good Quality Pipe Fittings, (PVC) Gate Valve, 1/2"Ø	рс			•
Heavy Duty, Good Quality Pipe Fittings, (PVC) Gate Valve, 1/2"Ø		3	1,035.00	
Pipe Fittings, (PVC) Gate Valve, 1/2"Ø				3,105.00
Heavy Duty, Good Quality	рс	3	285.00	855.00
ricary baty, Good Quality				
Pipe Fittings, (PVC) Union, 1 1/2"Ø	рс	3	300.00	900.00
Heavy Duty, Good Quality				
Pipe Fittings, (PVC) Union, 1/2"Ø	рс	3	120.00	360.00
Heavy Duty, Good Quality				
Pipe Fittings, (PVC) Union, 3/4"Ø	рс	5	146.00	730.00
Heavy Duty, Good Quality				
Pipe Fittings, Shower valve, 1/2"	рс	16	250.00	4,000.00
Brass Plated, Good Quality				
Pipe, (PVC) Blue , 3"Ø x 10'	рс	5	1,600.00	8,000.00
Schedule 40;				
Pipe, (PVC) Blue, 3/4" x 10'	length	4	150.00	600.00
Sched 40, Durable, Good Quality				
Plywood, Marine, 1/4"(thickness) x 4' x 8'	рс	56	580.00	32,480.00
Standard, Good Quality				
Plywood, Marine, 3/4"(thickness) x 4' x 8'	рс	40	1,650.00	66,000.00
Standard, Good Quality				
Portalet, good quality	рс	5	120,000.00	600,000.00
Height: 92"				
Width: 43"				
Depth: 47"				
Weight: 200 lbs.				
Waste Tank Capacity: 60 gal				
Lavatory: *Wash basin connected to a clean water tank of at least 50 liters. *The flooring should be made of non-slip material. *Bowl type - 100% closed polyethylene basin with lid and cap for basin *color - blue *Spring locked door showing if the toilet is in use/occupied				
	Pipe Fittings, (PVC) Union, 1/2"Ø Heavy Duty, Good Quality Pipe Fittings, (PVC) Union, 3/4"Ø Heavy Duty, Good Quality Pipe Fittings, Shower valve, 1/2" Brass Plated, Good Quality Pipe, (PVC) Blue, 3"Ø x 10' Schedule 40; Pipe, (PVC) Blue, 3/4" x 10' Sched 40, Durable, Good Quality Plywood, Marine, 1/4"(thickness) x 4' x 8' Standard, Good Quality Plywood, Marine, 3/4"(thickness) x 4' x 8' Standard, Good Quality Portalet, good quality Height: 92" Width: 43" Depth: 47" Weight: 200 lbs. Waste Tank Capacity: 60 gal Lavatory: *Wash basin connected to a clean water tank of at least 50 liters. *The flooring should be made of non-slip material. *Bowl type - 100% closed polyethylene basin with lid and cap for basin *color - blue *Spring locked door showing if the toilet is in	Pipe Fittings, (PVC) Union, 1 1/2"Ø pc Heavy Duty, Good Quality Pipe Fittings, (PVC) Union, 1/2"Ø pc Heavy Duty, Good Quality Pipe Fittings, (PVC) Union, 3/4"Ø pc Heavy Duty, Good Quality Pipe Fittings, Shower valve, 1/2" pc Brass Plated, Good Quality Pipe, (PVC) Blue, 3"Ø x 10' pc Schedule 40; Pipe, (PVC) Blue, 3/4" x 10' length Sched 40, Durable, Good Quality Plywood, Marine, 1/4"(thickness) x 4' x 8' pc Standard, Good Quality Plywood, Marine, 3/4"(thickness) x 4' x 8' pc Standard, Good Quality Portalet, Good Q	Pipe Fittings, (PVC) Union, 1 1/2"Ø Heavy Duty, Good Quality Pipe Fittings, (PVC) Union, 1/2"Ø Pipe Fittings, (PVC) Union, 3/4"Ø Pipe Fittings, (PVC) Union, 3/4"Ø Pipe Fittings, (PVC) Union, 3/4"Ø Pipe Fittings, Shower valve, 1/2" Pipe Fittings, Shower valve, 1/2" Pipe, (PVC) Blue, 3"Ø x 10' Schedule 40; Pipe, (PVC) Blue, 3"Ø x 10' Sched 40, Durable, Good Quality Plywood, Marine, 1/4"(thickness) x 4' x 8' Plywood, Marine, 3/4"(thickness) x 4' x 8' Standard, Good Quality Plywood, Marine, 3/4"(thickness) x 4' x 8' Pc 40 Standard, Good Quality Portalet, Good Qu	Pipe Fittings, (PVC) Union, 1 1/2"Ø pc 3 300.00 Heavy Duty, Good Quality Pipe Fittings, (PVC) Union, 1/2"Ø pc 3 120.00 Heavy Duty, Good Quality Pipe Fittings, (PVC) Union, 3/4"Ø pc 5 146.00 Heavy Duty, Good Quality Pipe Fittings, Shower valve, 1/2" pc 16 250.00 Brass Plated, Good Quality Pipe, (PVC) Blue, 3"Ø x 10' pc 5 1,600.00 Schedule 40; Pipe, (PVC) Blue, 3/4" x 10' length 4 150.00 Sched 40, Durable, Good Quality Plywood, Marine, 1/4"(thickness) x 4' x 8' pc 56 580.00 Standard, Good Quality Plywood, Marine, 3/4"(thickness) x 4' x 8' pc 40 1,650.00 Standard, Good Quality Portalet, good quality Portalet, good quality Portalet, 92" Width: 43" Depth: 47" Weight: 200 lbs. Waste Tank Capacity: 60 gal Lavatory: "Wash basin connected to a clean water tank of at least 50 liters. "The flooring should be made of non-slip material. "Bowl type - 100% closed polyethylene basin with lid and cap for basin "color - blue" "Spring locked door showing if the toilet is in useloccupied



45	PVC Ball Valve with threaded, 3/4"	рс	5	190.00	950.00
46	Rainboots, Size: 10 (Men), Black	pair	25	600.00	15,000.00
	Hi-cut, Seamless injection for good waterproofing, Premium Quality				
47	Rainboots, Size: 7 (Men), Black	pair	25	600.00	15,000.00
	Hi-cut, Seamless injection for good waterproofing, Premium Quality				
48	Rainboots, Size: 8 (Men), Black	pair	25	600.00	15,000.00
	Hi-cut, Seamless injection for good waterproofing, Premium Quality				
49	Rainboots, Size: 9 (Men), Black	pair	25	600.00	15,000.00
	Hi-cut, Seamless injection for good waterproofing, Premium Quality				
50	Sheet, Acrylic, 1/16"(thickness) x 4' x 8', Clear	sheet	10	1,500.00	15,000.00
	Good Quality				
51	Sheets, (G.I.) Corrugated, Gauge 26 (0.551mm) 4' x 14'	sheet	60	980.00	58,800.00
	Standard, Good Quality				
52	Solar Street Lights with Hot dipped/Segmented Post	рс	10	25,000.00	250,000.00
	18V/60W monocrystalline silicone solar panel				
	Built-in Lithium Iron Battery (at least 8 years battery life)				
	Cree LED Chip				
	30W-40W LED Lights				
	3300 -4400 Lumens				
	3000K-6500K Correlated Color Temperature (CCT)				
	Aluminum Alloy Shell Material				
	Equipped with Motion Sensor, Time Control or Mixed Mode				
	at least 6-7 hours charging time by sun				
	at least 3-5 rainy days, 12 hours per night discharge time				
	Adjustable Angle (15, 30, 45)				
	Compatible with remote control				
	IP 65 rating				
	CE, ROHS, IP Certified				
	Pole Height: 6-7meters				
	Bottom Pole Diameter: 3 inches				
	Top Pole Diameter: 2-2 1/2"				
	Base Plate Dimension (Lx W x T): 6 in x 6 in x 16mm				
	Anchor bolt Dimension (Dia x L): 5/8 in x 12 in				
	Black paint coating for all weather resistance				
	At least three years warranty on service and parts				
	•	•			



53	solar waterproof outdoor Christmas series light, 100 light bulb	set	20	1,000.00	20,000.00
	100 light bulb, white color				
	with remote control				
	waterproof, outdoor use				
54	Steel Bar, Deformed(Corrugated),10mm x 6m	length	90	250.00	22,500.00
	■0.616 kg/M PNS 230				
	■ASTM / Grade 33 Structural				
55	Steel Bar, Deformed(Corrugated),12mm x 6m	length	80	330.00	26,400.00
	ASTM / Grade 33 Structural				
56	Teflon Tape, 1" x 10m	roll	2	100.00	200.00
57	Teflon Tape, 1/2"Ø x 10m	roll	2	50.00	100.00
	Good for sealing on pipe thread				
58	Teflon Tape, 3/4"Ø x 10m	roll	2	60.00	120.00
	Good for sealing on pipe thread				
59	Tiles, 40 cm x 40 cm , unskid beige color	рс	200	80.00	16,000.00
	non slip tiles				
	good quality				
	to be used specifically at the GBR resort				
60	Timer time delay, 230 volts	unit	10	900.00	9,000.00
	1 year warranty				
61	Wood Molding (1"x2"x8 ft.)	рс	18	216.00	3,888.00
62	LPG Tank, Net. Wt. 11kgs. (tank and content)	рс	2	5,100.00	10,200.00
	Good Quality				
63	Welding Rod, E-6012, 1/8"	kgs	47	200.00	9,400.00
	Premium Quality				
64	GI Pipe 1/2 x 6 m. sch 40	length	63	650.00	40,950.00
65	GI Pipe 3/4 x 6 m. sch 40	length	5	1,000.00	5,000.00
66	Extension wire with 4 gang Universal Convenience Outlet, at least 10m long	рс	2	500.00	1,000.00
	at least 10 amperes wire capacity				
67	Transect Line 100M	рс	1	1,500.00	1,500.00
	High Quality				
68	Angle Bar, 3/16"(thickness) x 1-1/2" x 1-1/2" x 20', standard	length	10	700.00	7,000.00
	Premium Grade				
69	Door Knob	рс	20	1,000.00	20,000.00
	■Interior Type Cylindrical Door Knob Lockset				
	⊠ Good Quality				
70	G.I. Tie Wire #16	kg	3	90.00	270.00
	Good Quality				
_					



71	Spade Shovel, flat end	рс	4	300.00	1,200.00
72	Welding Rod, E-6012, 3/32"	kg	1	200.00	200.00
	Premium Quality				
73	Concrete Hollow Blocks (CHB), 4"	рс	300	25.00	7,500.00
	3-cell concrete Hollow Block 4"				
	at least 350psi				
74	GRASS CUTTER, 4 stroke	unit	2	23,000.00	46,000.00
75	Gravel, 3/4" size	cu.m	2	1,500.00	3,000.00
76	Screened Sand	cu.m	2	1,500.00	3,000.00
77	Steel Bar, Deformed bar(Corrugated), 8mm x 6m	length	17	150.00	2,550.00
78	Shovel, Tempered steel spade	рс	2	300.00	600.00
79	Cutting Disc for Steel/Stainless, 4"	рс	10	60.00	600.00
80	Hacksaw Blade, 14 TPI x 12"	рс	5	75.00	375.00
	Bi-metal, High-Speed, Durable, Premium Quality				
81	Pipe, (G.I.), 1"Ø x 20'	length	5	1,400.00	7,000.00
	Schedule 40, Good Quality				
82	Pipe, (G.I.), 1/2"Ø x 20'	length	30	580.00	17,400.00
	Schedule 40				
	Wall Thickness: 2.77mm				
83	Pipe, (G.I.), 3/4"Ø x 20'	length	55	1,000.00	55,000.00
	Schedule 40, Good Quality				
84	Grinding Disc, 4"	pcs	10	80.00	800.00
85	Paint, Red Oxide Primer	gal	2	520.00	1,040.00
86	Paint, Flat wall Enamel, White	gal	10	820.00	8,200.00
87	Paint, Acrylic, Yellow	liter	1	408.00	408.00
	Premium Quality Paint				
88	Paint, Latex, Semi Gloss, White, at least 16 liters per pail	pail	1	3,200.00	3,200.00
	Premium Quality Paint				
					3,698,171.00

DILBERTO O. FERRAREN

BAC Chairman